cons, append, listd &L

* (cons )p ’(abc) = (pabco
* (cons (abc)’p) = ((abc).p
* (append ’(a b) (c d)) = (@ b c d)

* (append ’a ’(b ¢)) =& IT7— (AIXURRL®L
1)

* (append ’(a b) ’c) = (a b . c)
append(XFE—5I D AEFOE —F S IEME
RIRE %L

e (list 'a ’(b ¢)) = (a (b ¢))

48

conslEEt=%rconstzILZ1DAEL, Bl#k
Z<{oD+5. VALDEEIZEZRZE I
[Z@#ELTLVS.

appendIE—FIHD) AbEaE—9 5
ET2DONYRMEHREE T B.
listiLIEEE DB EZT D= TDHF -1
constZILTHEE T 5. Kconstz)LDcardp
(I ILT 55|18 ZFfET. mEDconstz/L
DcdrEfl&nilZtgd.
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KA

 (setf vowels ’(a 1 u e 0))

= (A1 UEO)
EAD5I T L H 4 Teval L7,
2B B D5 HLevalLTHLESIZRAT
3.
setfDREIFZHIKALTE.
REZEHMDEEIZESD !
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 (defun average (X Y)

(let ((sum (+ X y)))

(list x y ’average ’is (/ sum 2.0))))

* (defun price-change (old new)

(let* ((diff (- new old))
(proportion (/ diff old))
(percentage (* proportion 100.0)))

(list ’changed ’by

percentage ’percent))) 51




NIV THERE

o HAAHBBEMAAHEZRHDERA
(documentation ’cons ’function)
= “(cons x y) returns a list with x as the
car and y as the cdr”
- BATERL-EARBOERHA
(defun average (x y)
“xEyDEHEZIRT
(/ (+ xy) 2.0)
(documentation ’average ’function)

= “x&yDFEHEZIRT”

52

« (apropos “TOTAL” “USER”) =
ARRAY-TOTAL-SIZE (function)
ARRAY-TOTAL-SIZE-LIMIT, constant,
value: 134217727
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. ;*(L'%E:I OY) DRIFITREFTEREAGS

;;; function to compute Einstein’s E=mc”2
(defun einstein (m)
(let ((c 300000.0)) ; speed of light km/s
;; E Is energy
;M IS Mass
(* mc o))
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JAMREDEIZ (FiE)

. reverse %
HEE
a%ﬁ/:_l'—t@T_/)-‘
- REEET—4
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